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Choose the altemative‘ which closely

resembles the water image of the given
combination.

W AFT IR w S TS
SO EEE | ﬁ:qm; #
‘BKSORPB2!

" (A) BR0KLES (B) BKSOMBES.

) BKR0¥bES (D) BKROKbLES
«In the question below are given three

statements followed by three conclusions I,
Il and TII. You have to take the given
- Statements to be true even if they seem to
be at variance from commonly known
facts. Read all the conclusions and then
decide which of the given conclusions
logically follows the given statements,
garding commonly known facts.
Statements : All 'schools are colleges.
Some universities are. institutions.
No school is university.
Conclusions :
I.  All colleges are universities is not a
: R?ssibility.

II. No college is university is not a
~ possibility. ° ' _
III. Some institutions are not schools is

not a possibility.
Only I and II follows.
Only II follows.

Only III follows.
Only I and III follows,

e fou 1T 399 o i e 37R 3% &g i
e 1, 11 37 111 fow e § ) st fog mg
FUA! ! T AT § WA € o TEgT ae o
ﬁqmgﬁi | it frsut =t ug 3Tt fo
A o 78 e fshul # § 9 & wme
I AT i Ve HA §Y, oy T weR

mﬁﬁ"‘gﬂﬁaﬁa@m l
Y FieiT & | qlhalaél
W%W@%W%I

L oft oo gheaid €, ® @
ATEAT TET R | ,

1. 9% Hiaw e 78 ¢, ' @
TSI TE € | ,

III. O HeIH SRt T8l &, 98 Th GHTET

[
(A) et I 3R 11 a0 Ha § |
(B) ¥aet I1 STTERV LT 8 |

C) e 111 STTERY 1 8 |
Eng et 1 3R 111 TRV HTd 7 |
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\ 3~ The film director wants an actor for the |ey

role of Lucky who perfectl fits *th,
description that appears in the origipy
screenplay. He is not willing to conside,
actor who do not resemble the character 5
he is described in the screen_ﬁjlay, 10 Matter
how talented they are. The screenplay
describes Lucky as an average-—sized, forty
something, red head, with deep brown 6s,
very fair skin, and a brilliant _srmle.eli'he
casting agent has four actors in mind.

‘Actor 1 : is a stunning red-haired

handsome who is 5'9" and in his mid-
twenties a%e. His eyes are brown and
he has an olive complexion. -

Actor 2 : has red hair, deep brown eyes,
and a fair complexion. He is in his
mid-forties and is 5'5".

Actor 3 : is 5'4" and of medium build.
He has red hair, brown eyes, and is
in his early. forties.

Actor 4: isa blue—;?red, red head, in
his early thirties. He’s of very slight
build and stands at 5'. :

3 R, ° % AT, T el
7T, TG ¥ 3T, T ) =T 3N
HIFER % ¥ O aftfa w2 |

HIET Toie & ferm §f SR FepR B £ |

APFT 1 : T TFER W qrell
e & S 5'9" #1 § 3K 4§ aW
wey e oY A § | Iweht artd ot &
3R IR T AT R |

AT 2 ¢ T A, e sl g ol
TR U1 8 | 98 3794 e Srefied ad o
B3RS "HR

STRFaT 3 1 5'4" 3R HEI HewHEd R |

(E: scanned with OKEN Scanner


https://t.me/Latest_Govt_Notification

Soham has invited his three friends

to watch the football game on his wﬁi?—r

screen television. They are all hun

but no one wants to leave to get food.

Bﬁ the time they are arguing about

who should order the  food, a

commercial comes on the television

screen for a local gllﬁzeria that delivers
izzas at home. e phone number
ashes on the screen briefly and they all
try to remember it. By the time Soham
grabs a pen and paper, each of them
recollects a different number.
#1: All of the men s%n-e that the first
two numbers are 67.
# 2: Three agree that the third number is 2.
#3:Three of them agree that the fourth
number is 4. .

#4: Three agﬁee that the fifth number is
eater than fourth number but less
an sixth number.

#5: Three agree that the sixth number is

6; three others also agree that the
_seventh number is 8. _

Which of the numbers is most likely the

telephone number of the pizzeria ?

A) 6726548

6724568

C) 6724758

D) Insufficient Data
3 3 o=

o ugTan ThiF T8

%{mmgﬁa%@m?g’%

BRI | 9 q GIgH He AR
Y% I Th FAT

$i
A) 6726548
%cg 6724758 D)

Mahesh is working with a friend to find

a location for the toy store he plans to

open in his town. He is looking for a

ace that is either in, or not too far

om the center of town and one that
would attract the right kind of foot
traffic, Which of the following locations
should Mahesh’s friend call to his
attention ? :

(A) A storefront in a new high-rise
building near the train station in the
center of town whose occupants are
mainly - young, - .-~ childless
professionals who .use the train to

mmute to their offices each day.
LéB’ff little shop three blocks away

from the town’s main street,
located across the street from an
elementary school and next door to
an ice cream store. ;

(C) A stand-alone storefront on a quiet
residential street ten blocks away
from the town’s center.

(D) A storefront in a small strip mall
located on the outskirts of town that
is also occupied by a pharmacy and
a dry cleaner.

TR T SR o 1Y T @ & TR 98
B L

4%

Tt (®rohe), el ' a=
'ﬂ@l'&ﬁqg , Fwam e €
TR e 3T wrrfer 3 oM % R
3 T ITFT A B |

Re |
(D) TR % a1 3 4 9 o
f&qﬁaﬁm@tﬁzﬁaﬁ@g}%
<l G 3T TS et b i e |
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|6 While travelling in a Haryana registered
' commercial taxi from Haryana to an
adjacent city (another State), your taxi
driver informs you that as he has no permit
for running the taxi in that city, he will
stop at.its Transport Office and pay the
prescribed fee of ¥ 50 for a day. While
paying the fee at the counter you find that
the transport clerk is taking an extra ¥ 50
for which no receipt is being given. You
are in a hurry for an office meeting. Under
such circumstances, what would you do ?

(A) Do not interfere at all as this is a
matter between the taxi driver and the
tax rities.

' Take note of the incident and

subsequently inform the matter to the
concerned authorities.

(C©) Go up to the counter and ask the clerk
to give back the money which he has
illegally taken.

(D) Treat it as a normal affair and simply
forget about it.

T & TR (G TH) A I3 Fd T,
JTTIRT ST et 3ATIeh! T e s
3IG% U 39 Y&l § et I <hig U
T8I B, T8 39 TREE e ¥ TR 3R TH
e 3 forw 7 50 et Te 7 e hem |
HI3 W Yo & T 39 9T & 1o IRee
i T 50 JAfafis o @1 g Rraeht g wie T8
S ST @ R | 39 AR Hifn o fore wied
€ | i oot & s R 2

(A) Foeper gt 7 i Hife I8 St
et I W IR F @i F:
gl |

(B) wea1 W &H ¢ 3R =g # Hafta
rferemTicat =t At it gEaT |

(C) HRR W ¢ 3R &idh & 3g 4 +)
T9E H F T FE N 39 3139 w9
afmE |

(D) T WM AWl W 3k 3a an
¥§T o |
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ar ing an qxamination paper o
\%artﬂ:ﬁm subject. Ome of u:
s, whose daughter is prepary,

|
|
|
|
|
4

| —

You are a Professor ina University

colleague :

for the examination on that Subjecy

comes to you and informs you that j; is

his daughter’s last chance to pass thy

examination and whether you could help

him by indicating what questions gy

going to be asked in the examination,

the past, your colleague had helped yq,

in another matter. Your colleagy

informs you that his daughter will suffe;

from depression if 'she fails in thj

examination. Under such circumstances

what would you do ?

(A) In view of the help he had givey
you, extend your help to him.

(B) Report the conduct of you
colleague to the higher authorities, |

(C) Explain to your colleague that this
would be violating the trust of the
University authorities and you are |
not in a position to help him.

A(D) Regret that you cannot be of any

3R T 31TY TG FTeHT ITh) Weg T Tahd

RIS R G C R

o & 3 wewt 3 Reelt o W@ A

Wiy AU b
98 39 g

& St @ o ST Pt e ¥ 1% @

. T 39 TR ?

(A) SE TR S Heg & o, 37 2@ T

A HeE IEehl A Es |

(B) 3= ftemiEl 1 a1qy wearht &

%1 Jeeteq B 3R 3Ty ekt A
F h RN AT E | |
(D) WBarET FM R amg sk R B

TG T8I X dhd & | L‘ﬂﬁﬁn
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8 In a question given below there is a \
statement followed by two assumptions
numbered I and IL "An assumption is
something supposed or taken for granted.
You have to consider the statement and
assumptions and then decide which of the
assumption(s) is/are implicit in the
statement. You have to consider the
statement to be true even if it seems to be at

{ygariance from the commonlﬁa?own facts.

- p-Statement : The school has decided to
rusticate such students from the school
who is creating violence and not
following rules in the school,

Assumptions: s

L. By rusticating students from the
school those students will never do
such things again in the future.

This action leads to discipline in the

school.

Only assumption I implicit.

ly assumption II implicit.
Either assumption I or II implicit.
Neither assumption I nor IT implicit,

mmgmﬁww e

L o L |

we F

qHIed & |
] I
(C) I e yROm 137 11 ;3[ |
/ﬁ) T uRon 1 SR A I 2
. If in a certain code language
EQUATION is coded as ZFJVM%,REG,
then how is FORECAST coded in that
same code language ?
%< W # EQUATION
%! ZFJVMLRG % &9 & fopa e
R, T SHY e 9T §# FORECAST %! %d
Feag femar smam 2

) EROFTSAC (B) ULIVXZHG

-

(C) EFORSATA (D) VILUGHZX |
o 5.

Kﬂ)ﬁ*‘ind the missing number in the given

series following the same pattern.

& ¢ sjEen § waH Y w1 g F@
B A e A R |

29Al1, 3CL8, FO47, 56]R, (?)

(A) 50U6 - 4B) 6NV5

(C) 50Veé (D) 60U5

{1./_Bea.d——beth_ the statements and decide

which of the following answer choice
correctly  depicts  the relationship
between these two statements :

Statements :

I. The car manufacturing companies
have recently increased the prices
of mid-sized cars.

II. The Government recently increased
the duty on mid-sized cars.

(A) Statement I is  the cause and
statement II is its effect.

\(B) Statement II is the cause and
statement I is its effect.

(C) Both the statements I and II are
independent causes.

(D) Both the statements I and II are
effects of independent causes.

I HYAT I g 3R T+ B Pr=fifea

H |/ B 91 IW Awed 3 A weEl F

ol Ho S wd e A quiai

HhYq;

I. %R fmfn sefEt 3 ge @ 3§ qem
THT <hl HRT <ht it F gfg hr # |

II. ¥R 3 T & # 7eW R 6
HRI T YEH TG |

(A) gmqlw.%aﬂtwumm
- |

(B) ;ﬂqllm%aﬂtmﬂmm
|

(C) =¥ 1 3R 11 gHi Sed IR |

(D) %Y [ 3R Il SFl WaT SR ¥
TN E |
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\)24 company needs to decide whether to
invest in a new technology platform or to

137 Six books - English, Hindi, Science,

continue using their existing platform.
Which factor should the company consider
most when making this decision

(A) The potential benefits of the new

latform.
‘/(B)"q'he compatibility of the new

platform with existing systems.
(C) The cost of investing in the new
platform. _
(D) The potential impact on employee
productivity.
TS HUH! ! I8 T A ! E¥THhdl § b
1 T ¢ NfEh 0§ FET B
1 T T 1 ITANT HAT SR TEHT
2 % A TG AT i TR B
T geR it fo=m & =g 2
(A) 7T F G AT
(B) foreem < A U T it St
(C) Tuw= # faw i wwrq
FHIRT IeATGhAT T HATI T

Computer, Maths, and Sanskrit each
contains different number of pages.
Computer book contains fewer pages
than only two books. English book
contains more pages than Science book
but less than Sanskrit book. Science
book does not contain least pages.
Sanskrit book contains fewer pages ia.n
Hindi book. The book which contain
third lowest pages contain 28 pages.
How many book(s) contain more pages
than Science book ?

M below shown figure, count the
number of triangles :
F e o i #, Frgai < wer fry .
)26 fal
(C) 28

15. —From the given answer figures select the

one in which question figure is embedded.

& S I Tpfodl A | I/ gig R v -
el Aietea 2 | T

(A)

J(A) Four (B) Two . © K
©) 31;“%? (D) None of these :
£ . ! ’ ! W; :
M% % Hﬂ%ﬁ W%mig Choose the alternative which closely
£ E;E:{ st resembles the water image of the given
! 1 G A B € il combination. | .
I& A fm N gwe A S afe | ’
wEpd H geh A w0 7 § | e | 38 fore o1 o ot <t R e widom )
W?éﬂ?ﬁw Eﬁ‘élgﬁﬁﬁ | EREIER - b
w1 I

Wﬁg@;ﬁaﬁ?ﬁq} agggam qg%a, } CROBAP76ES

28988 | - A) CGHB8YbiGER
%ﬁ?;?gmﬁﬁﬁmﬁw%aﬁm ’ gh) cuseVLLGES
(A) SR B) & | 4O cussveieee
() 9 (D) FHAREAE | P cussabiees
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. ! elect the alternative which represent

\/ﬁs; out of the five given belowpﬁgure:
. which when fitted into each other would
form a complete square

T 9 st
STE 5 2 o ot A
wz%wmawm@g%@ﬁ)

>DW&.-D

5

345 B) 134
125 k&B%’ 234
rom the given answer.figures select the
one

in which question figure is

embedded.
aﬂéma@ﬁﬁiﬁﬁﬁgﬁqﬁeﬁm
TP AR RS
|8_g | 65
E \T/ 6o
: | <1 9|
o[ A] o[ Af
o Al A\

\Wd the following mfonnatlon carefully
to answer the question given below : .

i1) M — N means M is sister of N.

iii) M + N means M is mother of N.

w; M /N means M is brother of N.

: In the expression Q + D * P/ N how is
Prelatedto Q ?

' gA) Grandfather

C) Daughter
:ﬁ% grrq Ugd T I A ﬁ% fog
I ! ATIEH T8 :

(i) M * N1 518 & M, Nl a1 8 |
(i) M — N1 3 8 M, N &7 & |
(111)M+Nmanf%M,N£rmm%|
(iv)M/N® 38 3 M, NHIWER |
=@ Q+D *P/N#, P, Q & frg vt
galta g ?
(A) 9
(€ wé

i) M * N means M is father of N.
) e

B) 9ar -
(;ﬁa

S

20. a town of 400- %ople, 185 speak
amil, 165 speak Punjabi, and 160.

1.

2

é)eak En llsh 40 speak both only
nglish and Tamil. 20 speak both only
Punjabi and Tamil. 10 speak both only
English and Punjabi. How many people
speak onlg;one language ?

400 i = Teh T, 185 aftrer derd
165 GSTTelt ieta g, N
2 | 40 et 3R 3fR afre

2oﬁawmaﬂtaﬁaaﬁfa'\aﬁ 110
el TSl 3R G 2T drerd § | Reen
T e Tk WT9T Sierd &
(A) 310 201
(C)- 210 (D) 301 _
oint B is 7 km to the west of Point A.
Point C is 12 km to the south of Point E.
Point A is 5 km to the east of Point C.-
Point D is 8 km to the north of Point C.
Point G is 6 km to the west of Point D.
Point H is 14 km to the south of Point G.
If Shubham is standing 6 km to the east
of Point H and takes 1 hour to complete
6 km distance, then in what possible
time he ‘would reach Point E, if taken the
shortest route ?
(A) 120 minutes

(C) 115 mmutes

(B) 180 minutes
(D) 159 minutes.

ﬁugB A % 7 oot wftdm # @ |

121%?2?@1%;%%3%

g1feg D, Mg C

mﬁ%u G, fig D % 6 feerit

qﬁﬁuﬁ%l H, g G % 14 f&f

Wﬁ%laﬁ H%:é forrft ol o

- wer g IR 6 Rt ﬁ FH A 1 "
ém%,a‘ta's g 3§ foig E W
IR mm@am%mm?
(A) 420 T (B) 180 fime
(D) 159 fFe

) 115 fFe

ind suitable answer in place of question
mark.

Wﬁa%uﬂqﬁmmﬁm
16:22::36: ?
(A) 43 (B) 2
(C) 53 46
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* (Q. No. 23 and 24): 8 persons from A to H sit

around a square table such that 2 persons sit in
the middle of each of the sides. The persons
sitting on one side of the table face the persons
sitting exactly opposite to them on the
opposite side of table. A sits on the immediate
right of E. G faces the one who is second to
the left of B. 3 persons sit between A and G.
Two persons sit between F and D (when
counted from one side only), who is adjacent
to E. Only one person sits between G and C
(when counted-from one side only). A is not
adjacent to F.

(TH. 23T 24) : AR H TS & § A &
ISR A % TRI 3N 6 THR A & 6 2 =afe
NS ST & A 8 ¥ad € | 09 % U A A
SIRAAl 1 9@ 39 » I faudia i 33 =afwa
FIAXR 1A ES 6 qR 312 | G 1 9@ 39

G AMAABF I TR EAARR A

IMGFIE3afrREIFIRDFTIS

=i 43 § (7 U O | TR IR ), MEH

e 2 1 G 3 C & wex Faa w =fs S92

sﬁﬁﬁaﬁt%ﬁﬁaﬁmmm%ﬁmqﬁ
: |

Who among the following sits second to
the right of the one who faces E ?

A) C ‘@ D
(C) F - \(P) Either Cor D
frfafea # & # E 6 3 35g@ =hs
% T R A R AT R 7
A) C (B) D

(D) AR CAD

K(C) F
- How many persons sit between E and

F?
'-(A/)B (B) 4

{C) 2 ' (D) None of these

E3NF e frm afe 43 8

(A)3 (B) 4

(©) 2 s (D) ¥4 & =g i
MKP '

.\L}/l'he school principal has receiveq
complaints from parents about bullying

—~—
in the school yard during recess. Hg
wants to investigate and end thig
situation as soon as possible, so he hag
asked the recess aides to watch closely,

Which situation should the recess ajdeg
report to the principal ?

(A) A girl is sitting glumly on a bench
reading a book and not interacting
with her peers.

(B) Four girls are surrounding another .,
“ girl and seem to have possession of
her backpack.

(C) Two boys are playing a one-on-one

game of basket ball and are arguing -
- over the last basket scored.

N /(D'){hree- boys are huddled over a
...... 5 handheld video game, which isn’t

supposed to be on school grounds.

T & NUMER hl ASAEHN 5 R

e Wy % sR & AR

¥ R fireft € | 98 See @ Sieg
ferfer <t wifer 3R 58 TmTe e e g
<@ % T e 8 | weATEEHI 9ER 5y
fora Ry <t ey Y =i o

(A) T TS T S9 T T Rame g &

? 3R a9 TR % Ty Sa-i
TR R '

(B) ¥R wefpat w ik wreeht % -

T & 37 e o & T 3 s
* e o T R |

(C) T T%H HE WeT F TH-TF QA
T @ 8 3 ol srehe R W
TEHRRE |

(D) 17 +15% 71 ¥ o Tt difea iy
e 3 7 g =fe |
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iXa took a taxi to meet her three
friends for lunch. They were waiting for
her outside the restaurant when she
~ pulled up in the car. She was so excited
to see her friends that she left her bag in
the taxi. As the taxi pulled away, she and
her friends took notice of the license
plate number so they would be able to
identify the car when they called the taxi
company.
1: The four women seem to agree that
5 the plate starts out with the letter J.

2: Three of them agree that the plate
ends with 12L.

3: Three of them think that the second
letter is X, and a different three
think that the third letter is K.

The four license plate numbers below

represent” what each of the four women -

thinks she saw. Which one is most likely
- the license plate number of the taxi ?

sfierelt feam 3 o= @ fore aroht i wRferat
¥ fier & fore 3ot ot | 9 [Rie & e
ITHT SAR X @t off 579 98 FR A T&h |
8 Ao wafol @ faem % fog soh
Seaf oft b ST & e Sig T |
8 @ et welt Mg, IWA AR IFEh
efodl 4 Rad wie e W e fen
fes o ¢t Ut I it HH W FHR H
g X Heh |

1: <R A $69 ST 8 e9d Sdid gt @ |

o e ) JoeTT J SERATN R |
2: 3.9 fi7 ggwa € f6 wie 120 &
1Y FHHE B @ |
3: mﬁ%zﬂnﬁaﬂ%%@nmx%
3R 311 <fi7 Gt & fos fiau ar K R |
19 € ¥ IR A e J@d quid @
% 9w afgenadi § @ vs w1 di=dt & f
3G W1 @ | I i AEE e e
S B = ST gl it 8 2

(A) JXK 121 (B) JYK 12L
JXK 12L (D) JXX 12L

I
|
|
|
l
|
|
I
9

¢ £

8.

\(8)CVGKGU

If in-acertain code language DESERT is

coded as EGVHTU, then how is BUDGET

.coded in that same code language ?

afe foreft faf¥em e Wit & DESERT
EGVHTU % &4 ﬁ fr ST ®, @
34t H< W1 ¥ BUDGET 1 8 %24
Torar s 2

(B) CWIGHU

(C) CWGIGU (D) CVIGUG

ount the number of quadrilaterals in the
following figure :

owing: question consists of a set of
three figures X, Y and Z. showing a
sequence of folding of a piece of paper.
Figure Z shows the manner in which the
folded paper has been cut. Choose a
figure which most closely resembles the
unfolded form of figure Z from the four
answer ﬁgurcs iven below.

T # A SR X, Y 3t

X) 4] @)
Answer Figures :

IR ATHAT :
=
(A) B

)

(R
C
© |l o || &

6
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\_/S/;f a mirror is placed on the line, then

which of  the answer fitgures is the
correct 1magc of the given figure ?

Ife T&T R U gd0 T e, @ & 7 I

Fpfcdl A A BN W & ¢ iy
F1 g afafew 8 2

1

©

®)

W ey
S 23

Which symbol will be on the . face
p osite to the face with symbol * 2

a@m%ﬁqﬂammaﬁ#m
ﬁa@m? ;
-] L4 $

- + +

i . $
(B) 8

(A) @
OB D) +.

If mirror is
which of the answer.
correct 1ma% e of the glven

MN tnrawrrq,
3?51'( 3ql§|?-|z:|l
STt BT Fﬁﬂﬁﬁw% ?
SI-]NAGAIE

N
(A) 2HVADAI = (BY TADAVHZ

| ) IAGANHS (D) IAGAVIHS
Arrange the following words as per the

order 1n dlctlonary

SlS

?ﬁﬁﬁ

H ULHY & FT
AR % |
1. Successor 2. Successive
~3: Successful . Success
5. Succession
(B) 3,5,4,2,1

%,5,3,2,1
) 4,3,5,2,1

MKP

@) 1,2,3,5,4

laced on the lmc MN, then :

10

|

Lﬁ./;:r:r:z the given alternative words, select

the word which cannot be formed usmg
the letters of the given word :
f&u e Aoy weql # @ 97 =g 9w )
fu My & v w oW S T
AT A Tl B
LEGALIZATION

) ALERT (B) GALLANT
(C) ALEGATION (D) NATAL

A man is performing yoga with his head
down and legs up. His face is towards
west, in which direction his left hand be ?

(A) North (B) East

(C) West (D) South

T et g = Tt T FW FH I
@ ] | SGH gﬂvﬁﬁw # AR 2,
Ia I gy R fem d 2 2

(A) I (B) .
(C) ufam EJ;L,
Mark the answer as per the c%de
provided below :

Assertion (A) : Clothes are not washed
" properly in hard water.
Reason (R): Hard water contains many
minerals.
(A) Both (A) and SR) are trueand (R) is |
e correct explanation of (A).
Both (A) and (R) are correct and
is not the correct explanation of (A).
EC gA; is true but (R) 1s false.
D is false but (R) is true,
fea E T I 3ifpa L
'aﬁ?%(%) : IR el A 92 It | &
T (R) : HR e N 314 @A E |
(A) (A) 3R (R) QHl 7 § T (R), (A)
1 TE] TTETHI § |
(B) (A) 3R (R) & H&"r% T R), (A)
1 HEl ST T § |
(©) (A) T R, S (R)m% !
(D) (A) e &, AR (R) W&t 2 |
The average of numbers 0.64204,
- 0.64203, 0.64202, 0.64201 is

W@ 0.64204, 0.64203, 064202,
0.64201 1 3frad 21 1
EA 0.64202 0.642021
C) 0.642022 D) 0.642025

o
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\§B/ What day of the week was on February 14, . 43~—Kunjan, Lila, Mehul, Nikunj, Om,

20127 Priyank and Queen are sitting on a
(A) Sunday (B) Monday circular dining table for a dinner. Queen
(C) Tuesday (D) Wednesday is not between Priyank and Mehul. Om
= i is neighbour of Kunjan and Nikunj. Lila
14 %, 2012 i HETE I 5 @1 o 21 ? is sc;:lcond to the left of Queen. Priya%is
FfEr AER to the immediate right of Kunjan. Who
GA) % (B) is sitting to the immediate right of Lila ?

N(% R USEIN (D) g¥ER (A) Mehul (B) Priyank

: . C) Kunjan (D) Queen
9. ~1If in a certain code language HOPEFUL (, 3 )
E3‘/i[s/coded as KLSVIFO, then how is o, e, Hge, figt, 3, B ok
CAPTAIN coded in that same code T @M % foe 0 MAHR ST 25t
afe et f2fPea g s # HOPEFUL #Y iﬁﬁa} ?" 3R gt 1 ToTeA 2 | "‘“1‘
KLSVIFO % &9 ¥ foran s &, < 3eft ) wH W E | B, e
ST ? . (A) A By Brais
(A) FZSGZRO  (B) GEGSRDQ (C) F91 (D) ==

(C) FZSGCLQ  (PYFZSGDRQ A certain number of students are
. ; A . standing in a straight line, and all of
v~ Find 's_ultable answer in the place of them are facing north. Arundhati is 19%
question mark. . from the right end of the line, and
Wﬁgﬁ;wﬁq{mmﬁm - Arvind is at the 15® position from the

f:ftver:ld of the line. Both, Arundhati and
: _ - ind interchange their positions, after
(A) 7 (B) 13 . which Kirti who was 24‘];lJ

392: 158 ? ‘

fr
©) 17 @y el%d Alf-v r}og at the 5t gqsitior? ?(1) g‘; %:g
\}rl.’ Choose the box that is formed from the gﬁident;na:estlﬂei:ilf ?lf;ulci)rlllé 1111{ ?::aln;any
given sheet of paper (X). (A) 45 '
< TS ST <l ¥t (X) & o i g | (B) 47
T b T e QA
A _ (D) cannot be determined. -
T i T Piftaa e s et e &
® 1 2 T e
(A) 1and2only (B) 2 and 3 only aﬂzmﬁaﬁﬁs%aﬁa‘nlﬁ 1;?;23%
(C) 3and4only (D) 1and 4 only ? | areufy afk anfie aFf X Y wm
(A) %3a 132 (B) Faer2 3k 3 I | wgw fore, Rk o Hiff o and
(C) @334 (D) Faet 1 ala B {243 T WA 3 g & A
%2 Initially clock showed 1:30 PM, what w:r%ﬁ;m U R
b gvill the time be after 1,44,356 minutes ? F e BT & 2
tﬁmﬁa@ﬁ 1:30 PM & @ 9, €AY 45
1,44,356 fire % =g =81 g B 2 (B) 47
(A) 7:15 PM @) 7:26 PM (©) 49 '
(C) 7:30 PM (D) 8:00 PM (D) Truifea & foran s awa R | ‘
u] 11 MKP
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?

45, Gamer Males who are Non-Dancer and

Indian are represented by which number ? |

fgeet gew S - (7 Rl §) 3
Ty 8, fore v gr guie e E 2
Gamer fgeng

| pem—— TR Y
A) 5 B) 7

- (C) 10 (D)*None/aTs el

\46. Choose the box that is similar to the box

formed from the given sheet of paper (V).
39 STad 1 g o 1Y T FI h A @

i
“Yodwl

(a) (by (er @&
(A) (a) and (b) only
B) © Eiazcgﬂt (lb)
c) an only
() 3 (d)
(C). (b), (c) and (d) only
(b), (c) R (d)
(D) (d) only
- @
At 3:30, the hour hand and the minute
' hand of a clock form an angle of ;
3:30@,:@@@3&353&%
‘Fﬁ 1 IV ST

8, Find the missin[gh number in the given
series following the same pattern. -

& T s § WHH Fed 1 AT H
: @@mmﬁql) '

15,17, 23,35, 55, 85, (7

(fj’l 0% T e 13, (B) 112

(C) 120 . @) 127

nAYrT™ g 12

@) L

49/ In the question, a piece of paé)lcr-is folded
e

and cut as shown below in questions
figures. From the given option figures,
indicate how it will appear when opened.

T |, H & Toh Zhe i AIGT AT HIT

T R, S o A= v 4 fe@rn
e | fw 7 feeea ¥, o f6
R AR sAEE e

| B | ®

o |Em o

In the following question, statements are
given and these statements are followed by
conclusions. .You have to take the given
statements to be true even if they seem to
be at variance from commonly known
facts. Read the conclusions and then decide
which of the given conclusions logically
follows the given statements, disregarding
commonly known facts.

Statements : All the bottles are boxes.
Some boxes are bags. Some bags are
suitcases. ; , ;
Conclusions : _

I. Some bags are bottles.

II. Some suitcases are boxes.

III, Some bottles are bags.

IV. Some bottles are suitcases.

A) OnlyI B) Only II
C; Onl; I : ED% Non}:: of these
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Section-B / 9rT-9

Teacher Aptitude and AttitudF

SK'  Suppose a teacher asks students to submit a
home assignment. Students prepare the
assignment generally as written document
and submit to the teacher., Teacher
evaluates the assignments, writes his/her
comments/m%gestlons in the assignments,
and returns back to the students. How
message is conveyed in this situation ?

(A) Non - Verbal Communication

(B) Verbal Communication

(C) Intrapersonal Communication

(D) Interpersonal Communication .
A A o weh frees Bt & 78 SR W
FWH % forg FEar & | @ SR W g

TS % ®9 T IEETHE IR W § 3K

Torerss =t s = € | v ot o &
TR Al 2, TG B A T
fewrf/gama forea 2 ok oot =t 9w
iterar & | 39 fefe 3§ wem ) e smar g 2
¢4) -1 Few (B) ek W
(C) UReIi U9R (D) Iidaditseh TR
| S;/Verbal communication  involves
conveying message through
communication.
£A) personal appearance and oral
’ (B) oral and written
FJE  (C) written and facial expression
(D) oral and eye contact
¥R A

wRumwREe
(A) ftTa S9RTY it difRes
(B) #iftaw ik ferfaa

(C) ferRaa st It i arfiraafes

m%w%

da/(D) Hifges 3R 33 Hueh
nature and behaviour of students.
;B Personal appearance
C) Gesture
D) Eye contact
3R SHER ) wwen & R R s @ |
- (A) = uffy (B) g '

technique is used to understand
Posture
Th1h 1 ITANT BEI & @HE
(C) TE-y& (D) = sk

fivemran ge g
During the process of communication,

barrier creates faulty expressions,
poor translation, amblguous words, an

inappropriate vocabulary
Psychological

Ji., B

L1ngu1st1c
IR &l
%ma |
@r@ﬁa;

(A) snﬁﬁm (B) GWTRS
(C) wT-waeft (D)

55 Oxygen is represented by O;.’
Whlc type of knowledge is 1t ?

A) Procedural knowle %
E{/ﬁdetacogmtwe knowledge

Soclo cultural

onceﬁ)tual knowledge
Factual knowledge
TR T 0,81
TR R TR FI T R 2
(A) W A=

(B) TEIHTHS T4
(C) Hehe9ATeHeh W

) TS T

Which ua?/pe of communication helps
indivi and groups within = an
orgamzatlon to communicate for achieving
lished organizational goals ?
Interpersonal Communication
Transrpersonal Communication
C group Communication
D 0rgamzat10nal Communication
TR H HER_TH TS
=fral AR |l B Wiy e
AEH B W W F T TR TR
HETIA] il & ?
(A) IFdafeREs TR (B) mmm
(C) YR EER (D) HISATHS §aO

\§7. Which of the following sentence is
incorrect in context to learning ?
A) Learning is Unitary..
Learning is individual and not social.
) Learning modifies the behavmur of
O) }}.,lec mdlvf\ial " lif
arning helps to make choices in life.
e & T & AR B S W

ST § 3 '.

I AT R ?

(D) tﬂ@mﬁaﬂi’igwﬁmﬁﬂaﬁﬁ% |

am
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.58 Which of the following sentence is
correct for ‘Teaching’ ?
(A) Carrying out  activities
completion of syllabus.
(B) Concerned with only growth of an
individual. |
(C) Form of intrapersonal influence
aimed at changing the behaviour.
) Simulation, Guidance, Direction
and Encouragement of Learning.
m § ¥ W G A A F
9
(A) Wtﬁr?ﬁﬁ for nferfefrt =1

(B) wEaﬁs%ﬁmﬁmﬁa%l

(C) TTER Hl TGTH F Iexd & TREAR
TWEHE

(D) @™ &1 1gHWT, Antee, fem 3k

. In psychology, awareness is a concept

about

(A) the state of knowing, perceiving
and being cognizant of events

(B) the state of knowing somethmg

(C) State of being aware

(D) None of these

for

H STRsehar F IR T TH
TR R | E
(A) gﬁaﬁ I T, GHEH 3R S $
R B R
% B 6 Rafer
(D) 78 & HiE &I
Teaching is not effective when

(A) students are actively involved
(B) it is well planned
(C) various situations are adapted with
ifferent techniques
communication is not effectively
reciprocatin
ﬁrwmqﬁ Grq'
gg; g m% GRIEEETE
ﬂleﬂilﬁlﬂ | :
~(C) Tl wffRfemt & faftrr werefient
% |y GRSk S
(D) "R 9 Y TR T8 |

o

e

is the major source of unhealthy
relationships.
(A) Anxiety
(B) Depression
(C) Institutional chaos
(D) Institutional stress _
I Gad
\ Ei He{lge
(B) Fmm
(C) |&ATTA ARl
(D) TEITTA q=1 =

I JGE HIT R |

\,64 The nature and quality of interpersonal
relationships greatly influence the
- and 2 of an institution.
{(AJ" environment, working
(B) environment, development
(C) environment, ethos
- (D) envn'onment, llfe

T
& aﬂt ﬁagaw%?m _
A) STATE, B
) STTeRI,
(C) SraTer,
(D) STaTeRoT, Site -

63" Which -hierarchy follows top- bottom

approach in an educational institution for
~ decision making ?

“(A) Director, Principal, Management
and Teacher

(B) Principal, Teacher, Director and

- Management :

¢C) Management, Director, Principal
and Teacher

(D) Teacher, Principal,  Director,
Management

%&ﬁ ﬁmur s § folr 9 & g AR

- e gfdemior w1 g

(A)ﬁ%sla; TS, Weud 3
. NYH

(B)W amm ﬁawaﬁl

(C)W fresms, ST 3R

ETH ‘

(D) e, ST, A, yae

o
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\64” Which are the two significant and crucial
factors for an Interpersonal Relations ?
honesty and trust
B) trust and respect
C) honesty and judgement

D) trust and respect & honesty and

0

) g‘uci‘ge:xtzf:q_%t‘;%ai L it
SHEE?

of the institution is a bridge to

maintain _ appropriate
relationships between staff members and

management. .
ES; ead Egg Supervisor

Director Co-ordinator

e

_ (C) Tiews D) TH<T%

. ‘The SDG-4 education 2023 framework
on education emphasizes the inclusion of
.modalities for the foundation of quality
education.’ ( .
What is meant by SDG-4 ?

A) Social Development Goal

B) Sustainable Development Goal

C) Standard Development Goal
gt System Development Goal

‘e W SDG-4 2023 T @1

i

67./ “It is the responsibility of the to
keep relationships with students Tocussed

on Pedagogical goals and academic

requirements”
@ e @)
o wedl otk %ﬁﬁ?‘;&mﬁ
T Hf5a ol & e gavl # s @
Tk 1 Rorerdi 8 1

= B :
(C) 3™ (D% H’a;qas

professional .

15

7 B

Which of the following are_the signs of

68. _

- fostering healthy interpersonal

. ..relationships ? 5

. (A) mutual  respect and share
responsibility

B) mutual commitment to goals

C) no_willingness to negotiate and
ngage in dialogue

) mutual  respect and

responsibility &

commitment to goals both

il Rl b b
CEEN 7
aﬁ%mmﬁt@ﬁmm

) &

| E(B:) ST S IR STasa & Wik g

" HIFE T R |

(D) WER T 3R AT el
_ e % forg grefeh siregar gt
The teacher is responsible for maintaining
(or acquiring) ____not only in areas of
personal interest but in all areas relevant
to course goals or objectives.

A) relations with others

gg pedagogical knowledge

D .
o % o & oo
e % fora i

L (A) % 1Y qEy
(B) I
=3 TR | UG Wt

. gshared
mutual

well defined standards
subject competence
& 7 hadl ol
s T
; ELiL (ar |
) & Rorg TR R |
¢ (©

. is based upon specialized
study and training; it provides skilled
service and Guidance for a definite
purpose to a limited section of the
population for a limited period of time
and can be practised independently or
within an institution. '

(AJ Profession (B). Job
(C) Trainin (D) Work

e &7 9T
a‘@?ﬁﬁﬁﬂ‘f%m@ﬁﬁgﬁaqaﬁﬂ%
fore gowret dan ofR wlesi sem e
3R W T w9 ¥ a7 fhet Ger % e
FE s EsaT |
(A) (B)
(C) wiznaor (D)
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71~ Which of these is not a characteristic of
a profession ? _ _
(}{’) A profession renders an essential

ocial service. :
A profession demands continuous
in-service training of its members.
C) A profession involves a code of ethics.
.(D) A profession does not demand
E]?lssessmn of a body of specialized
owledge and extended practical

training. -
<1 8 e ) e A P T 2
(A) Euaq%m SIS HHIR HaT GGH
HAZ | .
(B) T M weE F _fRw
TFTehTeAI TIRT&TOT 3 | e § |
(C) aam™ H IER Higar WP 8 |
(D) =adE fRY @
g IREY & € F I
Y T T8 B g |
Which of the
characteristic of a teaching profession ?
%} Involvement of intellectual operation
Transforming raw material into a
ractical and definite end

(C) Possessing _educationally
~ communicable technique

D) Lack of self-organization -

1g-rl=|1%|ﬁ§a T ¥ i @ e Feas 6

v adig? _
Sifge derer § et 8T |

A $
%ﬁmﬁ@m&aaﬁt

fafver aia § e | .
(C) e ¥4 & H=TH AT W | -
) JATEH-HITSHA hi FHHT | |
“Professional development of teachers is
not an event, rather it is a process.” This

rocess is in nature.
- é; ii;atii(cl: EB% _glcg:htri_nuous
@iﬁr F1 AEEIAF TehTd HIg Tl
ERS aﬁm'u'%@nﬁm% I” I8 iR
wpfer

(A) fer Bt
a (D) it
747 In an Educational institution

_ commitment to the well-being .and
development of all pupils is essentially
demonstrated by a

EA; Teacher rincipal
Management Director
e At e 3 S8 et sty
he Al
E@:)ﬂqas L (gﬁhﬁm?ﬁ%l
(C) waum ) frew
MKP |

I fearia

following is not

7W statements from the below does

not show commitment of teacher

towards pupils and pupil learning'?

(A) Teachers treat all pupils inequitably
and with disrespect. _

(B) Teachers treat all pupils equitably
and with respect.

C) Teachers treat all pupils with respect,

gﬁl-é Teachers treat all.ptémls equitably.
fou T FYA H F B A_FH

forenRfaT i frenfial & st & wfa

fareren ot sferenga =t wafiid, &1 a1 & ?

(A) Feams st % 91y FEHH
9 Y 3R ST T FIERFA G |

(B) 3reamdes o+t ferenfefat & wmer T w9
¥ N & T TR FA G |

Meacher’s commitment to Students’

well-being and learning is not through

positive influence

professional judgement

C) empathy in practice

D) maintaining strictness

% el I Hiw F wfe e A
BIREEC) HAEAETE E |

) T
fuia

(C) e o g
(D) |&dt S & T

L Aat is STEM curriculum ?

(A) Science Technology Education &
Mathematics -

(B) Science Teaching Evaluation &
Mathematics

(C) Science Technology Engineering & .

\E{Mathcmatics )
Sociology Technology Education &
. Mathematics

TS (STEM) TIgshd RITE ?
(A) HTEH AT TwIehyM U Refea

(B) Wr5w e e U8 AdAfe
(C) 9158 et sefifyafinr T
Afeay

(D) GifiEiersh iaist TSE U
Amferm
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variations

are . important
consideration  with reference to
dependence-independence.
ﬁm‘:ﬁimde EB; Aptitude
C) Age D) Interest
S LE G |
fafaeand femE |
C(A) THER T B)
C) Iy (D)
. How

€s a student get socially mature ?
_ A student can become socially
matured when he is exposed to a
few fpen le with whom he/she is
comfortable and can develop his
thoughts accordingly.

(B) A student can become socially
matured when he is exposed to
those people who are sociall
mature so that he can pattern hig
behaviour accordingly,

(C) A student can become sociall
matured when he is exposed to self

and develop an understanding of
society on his own, '
(D) None of these

AT F9 & qiues $3 Qa1 9
&ﬁwmmémm@m

& 79 98 $ U8 W 5 queh # s |
3&{ =
T e § SR

(B) T BT AW ¥ § qRyes a9
FHal 8 I8 98 39 @ % °uF
m%%.whmmm@tqﬁqﬁ%
ik, 98 I0h TR 34 TTER Y
SHI % ITEY T T | _

©) @@gwﬁmwﬁmﬁmﬁ T
AT 8 IS 98 WY AT
aﬁ?mﬁmﬁmﬁm
R |

D) FHAFETE

During the process of students

learn to live up to the expectations of the

society in which they live.
Social Adjustment
Social Maturity
C) Social Growth ;
Social Justig;: &
ékl:l BE 39 99
ST TG e v & et A 3 |
(A) Ffoms Tomis
(B) |m™IR™eh qiaesmn
(C) wmiTes fererrg
(D) s =

17

(i

&

helps student to know what is

desirable and expected from him.

(A) Providing motivation

(B) Providing a strict & targeted
atmosphere

(C)- Allowing students to do as per their

h (Flexible atmosphere)
@Bﬁ:zviding appropriate role models
—__ OF % I W 1 7eg wa £ %

- SH8 R Iie 3 sfE |
(A) SR Y& &

- (B) T& 3R Afa e wer s
(C) BT it ITH TBT F IER F& 6

STIAI AT | (GIUTSeh ararao)

(D) ST ST ¥GT e |

\_&/Who introduced ‘Play way’ method ?

(A) Caldwell Cook (B) Froebel
(C) Montessori (D) Blooms

fFem @ ¥ (‘Play way’) wgfg i
A H 2 N ‘

(A) =T HH  \(BY e

(C) Hicwdt (D) =

* Which factor influences that students
Studying in . a secondary school
understand that society does not expect

him to regress to childhood behaviour at
this age ?

: \({) Concept of dependence-independence

(B) Self-control
C) Stress

§D§ Social maturity @
BH W HRE TRE W fe T
weafien forerer 3 et aten o g
T v o 59 oW N T AR 6
3N e < Swtig T war 7
(A) Trirar-wadsar 6t srgumon
(B) ez
(C) &=
(D) | gftqesran

MKP
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tch the following :
\)'/ rﬁst —I List — 11
( parameters) (Description)

& Flexibility L

p. Holding.
people
accountable '

c. Managing 3.
Pupils

d. Passion for 4.

Ability to set clear
expectations and
parameters for
performance -
Ability and willingness

to adapt to the needs of |

situations and change

tactics

Ability to support

Eupils and to help them
ecome confident

independent learner

ability to provide clear

Learning direction and to
fgggxse and motivate
frefaRea =) gafea HHT
T -1 ‘ -1I
(H9ES)
o TRl 1. WeEH % fo wE IEd 3T
HTIEEl ! ¥ FHA <l G
b, @i 2 H Wi
SATECE 1 BN 3 Wi See
ST & &HaT ST\
c. feenfiai 3 ferenfefit st Femn FW
FTUEE | 3 aTcreaTE! wee feef
T 3 HG T h &
i @@ 4 W fem wen e 3R I
I F0 3R Ia F
<t A
\(K) a-2,b-1,c-4,d-3
(B) b-1,¢-3,d-2,a-4
(C) ¢c-3,d-4,a-1,b-2

(D) d-4,a-2, b-3,c-1

85. Which of the following defines the
concept of leadership ? '

B

A) influence, crucial, expectations
influence, expectations, relationships

\‘:{iepélurt:nce, relationships, voluntary
0

) influence, voluntary effort, goal
achievement

freafefad o | T 3G Y AR R

Tieid S 8 2

(A) s, Froia
(B) wuTa, 3K,

(C) v, 99y,
(D) w9,

MKP

’ll

Hay
e

wites ™, T A

'\ﬂ leadership, transforms

I
I
|
|
I
1

8

potenfial into reality.

analyst s B catallyst
C) educationalist (D) facilitator

7, Tl S STt
e S 8 | -

List — I List — II
(Leadership Myth) -(Description)
a. Everyonecanbea, i Rarely
leader. :
b. Leaders can deliver/ii. , Not
results. necessarily
¢. People who get il Not always
the top becomes
leader.
d. Leaders are great Not True
coaches.
<\ ghfera BT
Tl - 1 . -1
(g forer)

% . -‘ L} : .
b. %Wﬁmﬁl i, %‘l’l:%ﬁﬁq
. RrER @ i, g
roc SO T
d. ﬁmn@muﬁmﬁ@% iv. g"é’t?é’i‘ai

g1
(A) d-i,a-ii,b-iv,c-iii

(B) b-i,c-iii,d-iv,a- il
a - iv, b - iii, c- ii, d-i

(D) ¢ -i, d-ii, a-iii,d- iv

&s/ste of ICT for quality education was
highlighted by
(A) NCF-2005  (B) NCF-2009
(C) NEP-1968 _ \(D) NEP-2020

fre 3 QoM@ (ICT)

IYIIT T T WERTT STEAT 711 T |
(A) TTETH (NCF) -2005
(B) TAET® (NCF) -2009
(€) (NEP)-1968
(D) (NEP)-2020
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'89. Below given are the strong basis for
legders_h%;la development. Ma%ch List =1
with List IT :

List-I List-II _
a. Responsible i. Possess a long term plan
Leaders for their school as well as
career and personal life.
b. Focus ii. Take psychological

... ownerships for their actions.

iii. Needs recognition that

ol goes with success.

d. Credlblllty\ iv. constantly feeding their
minds with new ideas.

c. Ideation\

H= feu T Sge e 5 TS IR
%l@—lﬁ%ﬂ%gﬁf%?ﬁm:
-1 _ -II .
afmer i % C: -
Iar %Tqﬁﬁhmaﬂtmm%
Tk SEhIeTh
b. Shigd ii ﬁ%ﬂflg%%q'q:ﬁaﬁlﬁ;
HEI |
c. ST ii. YgaM i Feka &t & st
i e S B
d. iv. SR
CRmawad

a'i.i.!b'i’c'i.vsd'iii

-1, c-i,d-jv,a-iii
c-1,d-i,a-iv,b-1iii
d-ii,a-i,b-1iv, c—iii

C

Which of the following are the
characteristics of leadership in an |-
/gducational system ? -
1. lead by example and inspiration.
ii. guide personal programs, but rely
on his decision. .

iii. produce cohesiveness  without

which co-operation is impossible.

. iv. don’t resolve differences which arise in
il i rganlsatl beca”se
"-ljﬁ eggiﬂwfﬁleorogl;xﬂzzﬁm e
: antl‘ib‘;lte usé?ul Sl'»:ll-u3 eStl(}ngJp by
vancin, .
f’—'rmfggga 5 %&?q o e someh
I?
i IeTEr 37 Es]wn | AqE R | '
ii. SARETd HRIsAl Eﬁwhﬁh i,
AT I et I HUET Y |
iii. AR I L e famr wgam
it o TSN
iv. WA ¥ I
AR Xl N MR S !
V. qq8

= e

i, iii, iv ii, iii, v I
i, iii, v i1, ii1, iv

©

19

R

9 € communication of leader’s vision,
making his/her dreams apparent to
- others and aligning people with them is

Vianagement of Attention

danagement of Meaning
anagement of Trust

Management of Self

T FOR, A AT
T & IO e HET 3R A B 3T
BISESIES) 21 .

(A) T HYEET  (B) 37 1 yEuA

- (© BT TGYA(D) & 1 YEG9T
92. Which are the most essential factors in
leadership ? e
A) follower, leader and situation
follower, ~ situation =  and
unication
: leader, = situation and
. communication e .
(D) leader, follower, situation and
communication Sead
ﬁqa HTHIH HREH ?
(A) AR, = ok Rufe

(B) igardt, ffa sk d=w

(C) Jam, Rufasidemw =

(D) a1, 3rgaeh, fRafy ik auw

-~ Evaluation that monitors the learning

rogress during teaching is [
Summative Evaluation

B) Placement Evaluation
Formative Evaluation

D) Diagnosis Evaluation

§Ul %GR e @ wify & Famh

H T G AT 2
(A) INTTeH e

(B) W& qeuieh

(C) fema (formative) HeaTeh

(D) weifeh qeaieh
94. According to Kohlberg a teacher can
instillmoral values in students by:
Laying clean rules of behaviour
Giving strict punishment
C) -Discussing moral issues with them

_ Givihn_g importance to religious
e T, @ R Rl
Aftw gedl Y T LU
Thar g |
(A) W%g%@ﬁmm |

T ST | -
% 1Y ik el == |

(D) wTfifeh fRreor ht wEw & |
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wm—d communication is derived from
]atin word ‘communis’ means _____ .

(A) To make common

(B) Toshare

(Q)’éxchange

(D) To know

abiow o bl

(A) I ST & forg
(B) T3 HA % forg
(C) Tafsma = & ferg
(D) T@FA & fog

Ww students can decode the message
sent by an audio programme ? '

(A) Through visualization

(B) Through demonstration

(C) Through understanding -

(D) Through interpretation

BT T AT ST R St T HH
. EERRAWERAL?
| (A) TEEEEA S AR

(B) WeEi % ATEA |
F a9
¥ Arem q

are the components of

Given below
Select the

communication process.

appropriate sequence. '

(A) sender, receiver, feedback, noise

(B) sender, receiver, medium, . NOISE,
feedback

(C) sender, message, medium, receiver
sender, . message, medium,
receiver, feedback, noise

'wm%mﬁ%ﬁqwﬁiﬁﬂﬁ

0 %1 =T |
(A) s, , wfrgfE, AR
(®) e, e, FTeA, i, gt

98./C;mmunication starts with  the

conceptualization and
sender.

(A) development of an idea

by the

\j{lé)/eﬁzlopment'of message
) transmission of message

(]_)) r;::;ving of message .
qIR | T
(4) RemS e (B) T &
FEEU (D) Hed WTH HEAT
communication carefully
plans the message and delivers it
effectively - so as to invoke self-
communication among students.
(A) Intrapersonal erbal
(C) Non-verbal (D) Interpersonal
| G T & HE o A

_ wﬁ.ﬁﬁm@‘ﬁw%g

100.

B! % o AH-F=R HT ITETH

(A) TREARE (B) Wi

) f-#fke®s O

Suppose you plan to teach a content
(concept) using an audio programme.

S |

Then, you have to ‘write the seript

required for the audio programme. So,
the content to be transacted in the

classroom is _ into script.
(A) Encoded

(B) Decoded . Al
(g})/Both Encoded and Decodc:E'tx

i wriwH
Waﬂ%ﬁéﬂ@ (FrEHre) H
o o @ €L T
e St & T arh
RS T
(A) THISS
®) hIss
© -@,ﬁ@a@gaﬁtsﬂaﬁ%g
(D) g:rﬁﬂaﬁfﬂ'ﬂ o

__‘
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Section—-C / 91T-9

General Awarenes

Wl of the following presents cIihc

most significant feature of .the Indus
Valley civilization 7
urnt brick buildings
First true arches
uildings of worship

Art and architecture
Hi7 ar iy aret xRy i

farshyaT w&gd AT & ?

(D) e 3R IRGHel
“'11]4‘The Brahmanas are boo
(A) the Bhakti theory
(C) yoga _ -~ _ ) meditation
SRV T o T & g\djiﬂ?l HEUR
(A) wfrfagad (B) sz A
C) M (D) &= Y
. The paintings of Ajanta depict stories of the

that deal with
‘ritualism

A) Ramayana
C) Jatakas

37t o Tear fopaeht

(A) THE
C) Sird<h

104. Freedom fighte
belonged to

i.kaner—'
\ﬁa;?lsalm% wggaiﬁm ___®HY

o d (D _
-,_{05/’[‘M Ashoka pillar at Allahabad provides
tion about the reign of .|
Chandragupta Maurya
Chandragupta I
Samudragupta
Chandragupta IT

info

SCTIEISIE <1
%GR A JwT
Eé) 95H Y

] India alled
E_EE gA; Shikhars Gopurams
E Qi DyNeneof e,
TIiRaTTelt WIER e §
(A) Rrer (B) gﬂ -
(C) Hr (D) ¥4 A g Tl |

g
e migh ateways found at th
temples gf gouﬁm 4 ’

ahabharata
- Panchatantra -
i R E 7
(B) ¥RMR
) 9EdA
r Shri Surajmal Basaniya

Banswara
Jodhpur

WY Th¥eh MR

TCH a1 § ?
(B) <=TH IUH
(D) foeta
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. Which of the following ruler known as

“Abhinav Bhartacharya” ?

A) Rana Prata

a Kumbha )
Hem Chandra, Vikramaditya

" (D) Maharaja Suraj Mal
e e i

qRETET % T & AET A8 ?
~(A) T YA

(B) TomHHET

Eg) LS FRCE I

conciliate the Congress by guaranteeing

(A) the setting up of a_ representative
Indian body to frame a new
- constitution.

(B) iovernment’s' assurance to protect
the political rights of minorities.

© Itilngt' there would be no partition of

1a.
(D) that separate electorates would not be
provided for the depressed Ola%s%es-'. :

1940 % 3T T’
SHT NG F T A hl I Al |
(A) i w9 & T
m AT feRTa =t T
(B) TeudEshi o UsHIfash i <t
T4 % TTU GEhR =T SATvaTEA
(C) Yd 1 hIs faweH @i g
(D) <fora =t & foe st fafes dea
109 The northernmost limit of India is
A) 36°4'N latitude 37°8'N latitude
EC} 37°6' N latitude g?)i 36°12'N latitude
W it
(A) 36°4' N &
(B),37° 8' N &
(@) 37° 6' N &
(D) 36° 12' N 31&0I

1}0./World‘s Longest Highway Tunnel above
10,000 Feet located on which national

hjkhwa ? |

AN o,

10,000 ¥z & IR fova A =@ @+l

Tt g fpe Tt Tromml W R @ 2

(A) ﬁmﬁs (B) T 8

(&) TomTt 12 (D) 18
MKP ___

e
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\/111./ What is the most im yortant characteristic
of the islands (Indian) located in the
Arabian Sea ?

A) They are all very small in size.
B) They are all of coral origin.
E(é%;‘l"hhey have a ‘33? dry climate.
ey are exten ﬁ&amofﬂ)emainlmd.
anE 4R ¥ fRm g9 (v i ged
i foriean a%g 27 g '
(A) 9 @l TR # & I
B) I T gE F § |

(C) 3 98 2
(D) %g@r{ﬁ?mg l
. In the heart of the Intertropical

Convergence Zone in the northwest, the
ot winds known as * ’

‘?A?Ixjoo EB; Mango Shower
C) Nor Westers - (D) Blossom Wind
IR-9RET § R~ e
8
(A) g
(C) =™

' & ®Y H T IR |
- (B) H A
(D) e fag

M3 Tndia is the world’s largest producer of ___

(BY Wheat -
(D) Pulses
I fove w1 Ed

(B) 7§

(A) Groundnut
(C) Rice
- YId

SACH 2 |
(A) qHett
(C) v« (D) el

4. In which of the following states,

Tumallapalle, where huge reserves of
Uranium are found, is situated ? i

T

EAg Jharkhand Kerala

C) Tamil I;I%lu '‘Andhra Bq%‘nmie%!q
S &, Prtfifiee 5 @ forw T o R 2 2
(A) wInEs - (B) ¥«

C) dfterrg (D) 3Ty Weu

\ 5. Which of the following state has area-
wise the largest forest cover in the
country as per FSI 2021 ?

adhya Pradesh

B) Gujarat

C) Karnataka
F%I 2A.nﬁt:llhr%a Pradesh 33 feg
;I:ﬂﬁi g';'q»—cr & fewma A 30 1 v wer
(A) " W& B) TSUq

(C) e ED) iy wew
MKP
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196.-The Ahom tribes migrated from
‘9‘?&“’ SriLaths T”{s?eAfg%‘?ahism
%Myanmarﬁ "‘QD Iran i
G‘F!Tﬂl'aqlﬁ TR
~(A) i (B) :ﬂ;rﬁ%mn
(C), ™R (D) W

. Which of the following was the first
Indian woman who went into space ?

A; Shirisha Bandla Sunita Williams
C) Koneru Humpy pana Chawla
T § i Ugeil YR Afger ot

N ATE At 27

(A) Rifrseen”  (B) GHftan faferrs
(C) ®MEEH (D) e Frae
VI{Who of the following never became an
Acting President ?

@& B fam %% Hidaystatah
( L. Ja

frfaRed § @ ®9 amfamyangcrﬁr
EECCI

(A) =4t it (B) SfeRt &=

©€) #A.w<f (D) @ Reagee

o of the following ladies is popularly
~ known as “Grand Old Lady” of" the
independence movement ?
Sarojini Naidu
Sucheta Kripalani
C) Aruna Asaf Ali
Annie Besant

. ftaRaa & @ e

_ frg aftem |
eI i “IE Jles Ao & §I H T
TR ?

(A) WA TG (B) Tl HaeH!

_(C) I WG SEA(D) T
. Which person is called “Bird Man of India” ?
Salim Ali
Dr. Rahendra Prasad
C) Dr. Srikrishna Singh
Salman Khan
| ! “ATRA 1 S A HRl I & 7
(A) geim arelt | (B) I 15 WG
(C) . Hfipon g (D) WoW ™ @H
1. Amjad Ali Khan is associated with
which - of the - following musical

g

instruments ?

A) Guitar B) Veena

EC} Sitar Sarod = .
UG A TH # ¥ frg T
79 q Haftra € ?

(A) fier (B) o

(C) @R (D) ®T -

(E: scanned with OKEN Scanner



Alm Krishnamurti is an

accomplished exponent of

A) Kathak Bharatnatyam
EC Odisi Nor%e of these
) YR (B) WgHTEad i
(C) AfEHHN (D) TP T
123. is famously known as Flying Sikh.
Maninder Sin Yuvraj Singh
C Sandee Sm Mllkha Smgh

e ﬁrst Indian Scnentlst to win a Nobel
Prize was

a Sen : )
.V. Raman
E.%jlaggobmd Khorcaga k.
rahm 5;1% ndrasekhar
:,ﬁa% %lwﬁa:&

(B) 'a°1 A, T
5. o is calle Sh eSpeare of India ?
A Kalidas

- Rabmdranath Tagore
Mother Teresa

D Bharathi
Mﬁﬁwm%‘%ﬁt
A nami%wi%ﬁm TSy
\ljﬁa o)

(D)
1ch of the following is the primary
agen the Kyoto Protocol ?
¢ ontrol anthropogenic sources of

E enhouse gases

egulation of hazardous wastes

E } Regulate the production of nuclear
ene

D) Re gﬁtmn of Global warmm&
%mf%rﬁé% TS TerehieT

(A)maﬁ%mﬁaa’lﬁﬁ

B) @At 9T %1 s
EC; mm%%ﬁﬁnﬁaﬁl

ich are the main pillars of “Namami
Gange” project ?
ewerage Treatment Infrastructure
River~-Front Development

Al %rf—t%ggtéace Cleaning

(wﬁrA) T TR ¥ e e A 3 9
Wwalmnﬁ S LEE

EB) E TETE

C

O amh
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O

128/What is Ramsar Conservation ?
(A) It is about conservation and wise

e of wetlands.
It is about conservation of forests.
C) It is about conservation of mineral
resources.
(D) None of these

mmmw%é e S

A) T8 It % wem iR Rl
: )?mﬂﬂ%aﬂﬁ%l

(B) T@ I % WM FaRF R |

(C) T @i TETHi & G HFaR A R |

h/%saﬁ B HIE T
12 ich of the following Acts, deals with

the rights of the communities that dwell

-1in forest over land and other resources ?
(A) Indian Forest Act, 1927
(B rest Rights Act (FRA), 2006
Indian Forest Amendment Act, 2019

) None of these
%%rﬁgﬂﬁﬁaﬁ?maﬁﬁw iy 3t

mmﬁmwﬁmﬁmﬁa&aﬁi%
SRR A geRE 2 2

- (A) wRedE 9= iR, 1927
(B) s iR Iffem(FRA), 2006
(C) WRF 9 wsne= ifrfam, 2019

g DT |
Which . of the following 1is the

convention to protect ozone layer ?

- A) Basel Convention
Bonn Convention
. (C) Vienna Convention

Noneofthese
aﬁvhqqmﬁ%m %ﬂ{ﬁmﬁﬁ@aﬁé
?
(A) AT (B) o g
(C) Raiedem (D) T ¥ +E 7E

1}1/thh of these gases is not permitted to
be released beyond certain limits by the
Prevention and Control of Pollution Act
by the Government ?
A) Sulphur dioxide g; Carbon dioxide
itrogen None of these
é% 4 56 T ) THR g Sgwr
T stfifem gro Afvse o @
31feren ST & &t mgtrﬁr e
(A) T SHATES
% e STHATHES
D) %Wﬁ -
M“
(3 Scanned with OKEN Scanner




32. What is the impact of climate change on .

rests 7

A) Increased biodiversity

= Increaseg pmlglgr?t;gltgestratmn

5 Eggaasse% “%Eludﬁresan pest outbreaks

1 T R TSR R ?

(A) ﬁﬁwﬁ’qﬁi

(B) IcaTEeHaT |

©) WEW ﬁ

(D) ST 3R %uﬁqﬁqm
433, Acid rain corrodes the marble of the

monument. The phenomenon is also
called .
\28— Marble growth Marble evolution .
Marble cancer e warp
I TN WIS TR ﬁ |G

aa-rcﬁ% | T i FEI @R |
(A) H’Wﬁ (B) TR fer
(C) TR (D) SR AR

¢ Which of the followmg is not a heritage
site as per UNESCO list ?
(A) Keoladeo National Park
BY Jaipur city '
(C) The Jantar Mantar

ED) Bxkaner Fort

S| ajﬁfm qtqﬁ 3

agmqasﬁtmmﬁ% ?

(A) TR 3aH 3

(B) ST AR

(C) FatHM

(D) ST T |
\_135. What is the State Da\z;? Rajasthan ?

(A) Mundari Ghoomar

(C) Bhangra = (D) Powada

TSI 1 TG e T & 7

(A) Ferdi (B)

(C) s (D)

'\M art of Rajasthan is a minute

\‘p(aiuﬁag on glass using gold.
A) Devra (B) Thewa

(C) Phad (D) None of these
TSTET <l HeTl T T ITANT K
HE W TH @Tﬁmﬂ (ﬁﬂmz 3%[) 2
~(A) T
(C) % (D) sﬂﬁﬂﬁﬁﬂiﬁ
MKP
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» Which of the following rivers drains into

Bay of Bengal ? _

(A) Ghaggar (B) Luni

“(C) Mahi (¥ Chambal :
frafies & @ wf & 7 Fe FH @R
H iRt 8 2

(A) T ®)

(C) =& (D) =t

. In which district of Rajasthan, Kalibangan,

a pre-historic site, is located ?

(A) Bikaner (B) Jaipur

(C) Jaisalmer (Dy"Hanumangarh
TR Tt Sesr Tseer™ o e
feifRmg ? . :

(A) iR (B) S

(C) STt (D) TG

. What is the tagline of Rajasthan Tourism ?

(A) Land of gods

(B) God’s Own Country

(©) The Incredible State of India

(D) Full of Surprises -

TRY e ht STersT F 1 8 ?

(A) ¥ 3116 Mga

(B) M@ SHHG

() ATHRew Re Aw AR
B HATE TOMEAS

40. Who was defeated by Rana Sanga in the

14

battle of Khatoli ?

((};)};ahnm Lodi (B) Akbar
Sikandar Lodi (D) Babur

ettt & g 3§ qum |im 3 e g o ?

(A) TR AR~ (B) IHM

(C) @ (D) oK

e Tejaji fair is held every year at which
of the following places in Rajasthan ?

(A) Bhiwadi (B) Udaipur

(C) Beawar (P) Parbatsar . -
STl B & He Tsrer # ot o
¥ form M W TR o i 8 2

(A) Tt (B) SEAR

(C) = (D) WEAE -

(E: scanned with OKEN Scanner
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~142. Rajasthan became the first state in India
to surpass GW of cumulative
large-scale solar installations. ‘
TS WRA 1 Y&l WET U9 & T 8
e ¥8 TR W w9t d@i wfasml &

_ GW = IR R |
(A) 15 ~ (B) 10
(©) 20 (D) 23

43. Sports For All (SFA) sporting services

joined as the powered-by sponsor of
which event ? *

\;?/Women U-19 World Cup .
) Khelo India Youth Games
(C) FIH Women’s Hockey
(D) Khelo India University Games'
%R Aid (SFA) &t afdfes fra
T2 % TS -9 T o &9 H et g8 ?
(A) THAR-19TEHT
(B) Wit <fe 4 i
(C) THIATETH T &lehl
(D) et 3femn gfaftid

\144_ VAYAM RAKSHAMAH (We Protect)
i motto of which armed force ?
(A) Indian Coast Guard
(B) Indian Navy :
(C) Indian Air Force
(D) Indian Army
YU &S (BH &1 i ) Fora avre 5@
T AT -aATRI B ? 3
(A) W 7 Wieh (B) WK™ T -

(C), TR g &1 (D) AR &1
" 145 Under which scheme of Rajasthan

Government, 12 sanitary napkins are
being provided free of cost every month
to women and adolescent girls for better
health management of women ?

¥A) Udaan (B) Shakti

et Aufera vt sem fFe TR € 2
(A) SgH (B) wiikm
(C) 7@ (D) W&

|

. In which of the following cities. A
Ministry organised Scient%ﬁ((::l (ljec?ﬁver);:ilgg
omeopathy Day ? -
(B) New Delhi
53 R (D) ﬁShimla )
| TR LEIGRE
fovg gm=nteft fegm w ém qeieH
et femam 2
- (B) T feweht
(C) (D) e
147, ~Which of the following airports in Karnataka
was inaugurated by Prime Minister Shri
Narendra Modi on 27" February ?
(A) Mysuru Airport
(B) Kempegowda Airport
Mangalore Airport
(D) Shivamogga Airport

27 ®Ed w guEEE St T
_aﬂﬁmﬁ'ﬁnﬁfﬁﬁﬁﬁﬁmgﬂé-g

1 g—? T 97 7~

(A) -3T81

O e
R gaE-3m=

\IA&}WDiich country is known as a tax haven,
_ has introduced ‘Federal Corporate Tax’
for the first time ?
(A) Finland (B) Mauritius
AE ) Switzerland
© - T9 W I 399 ¥ o &9 | SHETIT B,
e ugelt s st SRS W
Tt R R 2.
(A) Trets (B) wiiwE

(C) ©Y o1& 3ni(D) fRemteis

\149~Which city is the host of ‘5" ASEAN-
India Business Summit’ in 2023 ?

(A) NewDelhi  (B) Kuala Lumpur
(C) Dhaka (D) Singapore City
HF G W 2023 W 59 GAH-NRA
IR R -’ 1 AT 8 7
(A) 7 feeeht (B) FATATL
(C) erenl (D) RIS

150 TLMAL is a joint venture between India’s
Tata Group and which co ’s counterpart ?
EA) USA \?B?ﬁrael
C) France D) Japan
TLMAL ¥Id % 21T 98 iR fore 3w %
TR & offe Toh HYH STH R ?
(A) quEY (B) sSR@
(C) wH (D) SU™

25 MKP
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Section-D / '{rm-a
“English /

%Whleh sentence contains an infinitive ? -

A) She gave him the book.
They made dinner for themselves.
To sing is her passion.
He saw the car accident.

“Fill in the blank using appropriate forms
of the verbs out of the given options : -
Not only you but your friend also

are

to be blamed.
0 EBg have

A) is
15! }ifs t tai ?'
3. ich sentence contains an a ositive
A The car is blue. PP

My friend, a doctor, is coming to visit.

She runs every day.
The movie was emotlonal as well as

q{ thrilling.
Wh1ch sentence contains an mdlrcct object ?
She bought a very nice book.
They showed him the way.
C) He pla ed football.
The ﬂowers bloomed beautifull
1 md out synonym for the underi’ned
word
Petrarch cultivated his fame and was the

first genuine [iterary celebrity.
eveloped B) sequence
'C) despair demonstrated
1ch sentence contains a . transitive
verb
The bird flew away

She slept soundly.
The ch1 dren played in the park
He ate the pizza.

157~ Which sentence contams a co-ordmatmg

con junction ?

(A) The sun was shining brightly in the
sky since there were no clouds.

(B) She had a headache, but she
continued to teach her students.

-(C) After she had finished her work, she
went for a walk.

(D) He is tall, dark, and handsome.

Department for military stores and
supplies is known a.s

%‘ﬁ Ordinance Ordnance

C) Ordination D Ordinary

. Which sentence contains an adjective
clause ? :
(A) The girl who won the race was very

happy.
(B) He rode his bike to the store that
EC% was very near to his house.
D

She sang a song for the class.

We ate pizza and watched a movie.
\/60’ Wthh sentence contains a gerund ?

He enjoys runmng m
B She is readm% a book
e

€ morning.
C). They played fennis after school.
The b?rd%ang a beautiful sox?g

sk,

MKP

“War and Peace” isabook ____by Tolstoy.
A) write B) “wriiten
wrote D) writing
ich sentence is an active sentence ?
The cake was baked by my mother.
e car was driven bK brother.
he sang a song for the class.
The moyie was watched by
everyone in the theatre.
chh sentence is an imperative sentence 7
I think we should go to the beach.
Please turn off the lights when you

e 1s readm a book about history.
y played basketball in the gym.
7 Put the correct word from the optlons

: I have been waltmg here the last

16T,

162
(A
B

for

A Can ou pass the salt, please ?
at is your favorite colour ?

The sun 1s shining today. - .
Wow! That was an amazing
performance!

Vl@. Identi

the complex sentence in the
wing options.

A) Thedog and the cat ran away.
B) She went fo the store after ‘she
finished her homework.

(C) He is a great athlete who also excels
in academics.

(D) They played soccer for hours and
then had a plcmc
Which sentence is in the interrogative form ?

A The movie was very entertaining.
B She went to the store and bought

ome milk
{Z(s at time is'the meeting 2
He ran three miles this morning.

Wh:ch sentence is a 31m1€he sentence ?
%B} The dog barked and the cat ran away.
The sun is shining and the birds are

O 1 wall%ed to the store and bought

E:

some milk.

e(aB/ She loves to read books and
magazines.

!»69/ Which sentence has a subject-verb
eemen’c error

The boy and the llswa]km%toschool
The ﬂo){vem in mgelr are blooming
He has two sisters and one brother.

sings and dances on the stage.

She my request for travelling
e ther to UK
turned down Bg turn off
1_:urn on ' turn out

26
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178" So.... that’ and ‘Such.... .that’ are the
es which express w
A) Adverb clause of noun
B) Adverb clause of verb
Adverb clause of manner

dverb clause of result

\172. Which is the correct active sentence of
the following passive sentence ? .
I was taken to the public library by my
_ sis fore I was able to read.

Before I was able to read, I was taken

to the public library by.my sister.
(B) Before I was a le)é t)c: read, my
. sister took me to the public library.
(C) Before I was able to read, my sister
took me to the public library.
(D) I was taken to the g,ull;;ic library before
\ﬂ@ve ém.te \ﬁjordb for : Irrational fealr ofh crobwds
itophobia {B;Deho obia
&C} Astrophobia 'Claustgophqbia _
correct verb for the

I knew how to rea my sister.
\.4’7{ Choose the

following sentence :
Either

e ‘manager or the associates
the merchandise. -

is suppose to order
are supposed to orders

5. A/An is a word of exclamatory,
expressing a sudden feeling or excitement.
%A? verb gD adverb
C) interjection - noun, ..
\-47(“"['he sun smiled down on us.”
The above is an example of
n !
Metgphor .
C) Personification -
D) Both __  (Metaphor)
.~ (Personification)

and

7" Choose the correct meaning of the
115110m or phrase given :
To praise oneself
To confess without of reserve
ven sentence in Indirect speech:
, “Have you sat in a
trol is before 7’ !
Manna asked Rohan had he sat in a
= trolley bus earlier.
 (C) Manna asked Rohan if he sat on a
trolley bus before.

clean breast of
- To gain prominence
. (C t
D) To destroy before it blooms
\/I{ Choose the one which best éxpresses the
i
anna asked Rohan
(B) Manna asked Rohan had he sat in a
trolley bus before.
(D) Manna asked Rohan if he has ever
sat in a trolley bus.
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Md the correct word to complete the

following  proverb and — familiar
expression : '
Strike-while the is hot.

iron water
C) metal - D) book

}80./Choqse the most appropriate articles for
the given sentence:
heavy rainfall last week was
disaster to crops that were already in
dismal state.
\W‘No article required, an, no article
required .
B) no article required, a, the
C) The,a,a ) '
(D) The, no article required, the
18" Which of the following best expresses
the same sentence in Passive Voice :
Do derstand what I mean ?
at I mean is that understood by

ou?
(B) %Vas what I mean understood by
ou
C ¥s what I mean understood by you ?
D) What I mean is understood by
you.?
182 Which of the following options has the

correct order of words to form an

interrogative sentence ?
(A) A villian /was he/ not to do/ such a

deed 7 N
(B) XVa.(sl }?m/ not to do/ a villain/ such a
- .. deedif 5. .
© %—Ic-wa?s / a villain/ such a deed/ not
. 5 _
Was he/ not a villain /to do/ such a
deed 2--

‘. No sooner had she read the telegram
. she fainted. = H
an

~fhen
therefore there

What is the meaning of the word
‘vernacular language’ ? '
A) formal language
B) informal language

foreign language

native language
. Use suitable prefix to make the opposite
of the given word :
‘Contented

im

A} in
_ into dis
7 Which one of the followin

example of “Collective noun”
e (B M
: Federation D) Milk

87 Which word is an antonym for
‘generous’ ?

e

IS an
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i he

d the passage given below and answer t
leeasﬁons pfromg Sue. No. 188 to 192 b_y
choosing the answers from the given options :
Reading is an essential skill that students
need to develop in order to be successful in their

i onal lives. It is important
sedienido a0 l':ll;gfesn?éading is not just about

to remember
: a e, but about
ggﬁg?sjtlagndi:‘:éort}(i‘: mggping bgﬁignd those words.
" Reading comprehension is the ability to

tand. analyze, and interpret what you read.
undersThecll_,e areysiveral strategies that students
can use to _improve their reading
comprehension. One of the most important
strategies is to preview the text before reading
it. This means looking at the title, headings
and any pictures or graphics to get an idea o
what the text is about. Another strategy is to
ask questions as you read. This can help you to
clarify any confusion you may have and to
stay focused on the main ideas of the text.
It’s also important to note that reading
comprehension is not just about understanding
the words on the page, but also about making
connections between the text and your own
experiences or knowledge. This can help dyou
to remember the information better and to
apply it in different contexts. - .

Finally, reading comprehension is a skill
that can be improved with practice. The more
you read, the more opportunities you have to
develop your comprehension ‘skills. So,
whether you’re reading for pleasure or for
work, take the time to practice and improve
your reading comprehension skills. -

\188. According to the passage, what is
reading comprehension ?
(A) The ability to read words on a page
The ability to understand, analyze,
and interpret what you read
(C) The ability to read quickly =
(D) The ability to write about what you read
What is one strategy students can use to
improve their reading comprehension ?

(A) Only read the first and
sentences of each paragraph.
Skip over any pictures or graphics
Preview the text before reading it

D) Only read texts that are easy and
familiar

. Why is it important to make connections
between the text and your own
éxperiences or knowledge ?

(A) To confuse yourself

(BY To remember the information better
and to apply it in different contexts
Egg %o lgnairet e text
o make the text m i |
et ore difficult to
MKP

\ 189,

last

|
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l)@‘(&ccordiug to the passag

A) didn’the?
| éca)/ldslnr: ltlee??

e, how can
reading comprehension be improved ?

(A) By avoiding difficult texts

(B) By only reading for pleasure

(C) By practicing reading _

(D) By skipping over any pictures or
graphics _

W t is the main idea of the passage ?
\,{%m Reading is an essential skill for
success.

(B) Students should only read texts that
are easy and familiar.

(C) Previewing the text 1s not an
important strategy for improving
reading comprehension. :

(D) Making connections between the

text and your own experiences is
not hef;,)ful for =~ improving -
comprehension. :
Mne should oneself to whatever
circumstances one is placed in.
adapt - (B) adopt
) adept (D) acquire
. What is the meaning of the word
‘quintessential’ ?

(A) common \(BJ ordinary
) typical ' - (D) exceptional
. Socrates was ____ wisest of Greek
philosophers. ~

(D) no article

(A) .the.... «
an
6. - Which of the following is an example of

a }{Jrep'osition_? o .. g
(A) sin <+ (B) happy
i i .~ (D) quickly

‘{{ Which of the following is an example of
a conjunction ? - -
(A) of .(B) because A

\lg(eej beautiful (D) this r"'
Select the word for the study of i'hythm,
sound, pause, stress and pitch features of
a language particularly in poetry and
speech. AT
(A) programme prosody

HQ/(C) prospect (Q)F protagonist
9. Which of the followin?g is an example of

o - Xossessive pronoun
(A) my &B))))Je(
(C) its all of these

200. He is here, ? Put question tag

(B) won’the ?
(D) needn’the?
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